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QUESTION 1

You have just checked the balance in your bank account by logging into your bank\\'s Web site. Which protocol was
most likely used for the transmission of your information?

A. IMAPS
B. HTTPS
C. POP3
D. FTPS

Correct Answer: B

QUESTION 2

Acme Company has been receiving complaints from its suppliers saying that its extra net site does not render correctly
in all their employees\\' browsers. The suppliers are asking that the extra net site be fixed so that everyone can access
it, regardless of browser type. When examining this problem, the Acme Web Development team finds that many
developers worked on the site and each used code that he or she was comfortable with. To resolve this problem, what
can the Acme developers do?

A. Edit the code so that it consistently uses uppercase letters.

B. Edit the code in several common browsers before publishing.

C. Edit the code so that it conforms to a single W3C HTML standard.

D. Edit the code so that it follows a single W3C scripting language standard.

Correct Answer: C

QUESTION 3
When a developer wants to center a paragraph of text, which code should she use?
A.

This is the text to center

B.

This is the text to center

This is the text to center
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D.

This is the text to center

Correct Answer: C

QUESTION 4
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When comparing IPv4 to IPv6, which of the following is an advantage of the IPv6 network addressing scheme?

A. Larger address space

B. Shorter address space

C. High dependence on network routers

D. Fast and unencrypted network transmissions

Correct Answer: A

QUESTION 5

Which organization is responsible for managing domain names so that each one is unique, and (once registered) cannot
be used by an unauthorized individual or organization?

A. ICANN
B. W3C
C.IEFT
D. RFC

Correct Answer: A
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